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Put them in their place

You will need to work in pairs.
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e Put the numbers on each row in order from smallest to largest.
e For each section make sure you both agree on the order before moving on.

1. Directed numbers | in order |
A 5) *71 2: "31 1 y —91 4 ‘9’ "7! —59 17 2 4r 5
- 8 -2, 9, -5 3, -1, 7 -5, 9
o4 -12, 17, 25, -6, 0, -7, 3
18, -1000, -100, -5, -15, 300
2. Decimals
H0.00L 0.3, 0.1, 0.01, 0.05, 0.03 O-001, 001, 008, G085, 01, 05
E0.0M, 0.008, 0.037, 0.003, 0.57, 0.5 | O-003, 057
E?.OL 0.17, 0.71, 7.1, 3.01, 3041
H4.1, 0.004, 0.00005, 0.52, 4.01, 0.036
3. Fractions
B o o6 v om0 s Ve s, s, s o
Yo, 25, Ya, Y10, S0, 3/s, s 10, 9/q
410, 3, 7lo, Sla, 112, "3/7, /s
285, 17/2, 817, %/s  Sfa, 8/10, /o
4. Powers
u 22 8, 17, 32, 9, V25, 16 22 17, Nos, o8, % 16, 92
3, V12, 7, 13, 36, 10, 42 12 42

V35, 5, 3, 23, 9 62, 11

J27, 48, 30, 72 Vea, 17, 22

BN

e Check your answers to questions 1 - 4 before doing question 5.

5. A mixed bag

1.52, %5, V1.6, 32, -0.8, V2.6, 2.82

-0-8, 2, V1.6, V2.6, 1:52, 2.82 32

5/s, 0.75, /2, 0.51,v0.9, ¥0.16, 7/10

Vo186, NO-9

18/4 3.6, 3% 100, -20, V10, -7/s

J10, -3.1, -3.25, 1.42, 2, V11, -%;
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Four signs
PR

Use a caiculator and your judgement to find the signs that belong
in the circles.

ke

37 () 21y () 223=1000
2. (756 (O 18) () 29=1218
27() (36 (O 18)=675
31 (O 87 () 19)=2108
476 () (2040 O 24)=391
6. (3461 () 276) () 101 =37
967 () 34)(D(1023 () 654) =369369
8 2°() &) 9=64
0. 619 O 316) O 425 (O 196=924
10. 6975 () (36 () 39)=93

noR W
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The Game of 2, 3%, 4 and 5

This game uses 2, 3, 4 and 5.
How many answers can you make by using these numbers in different

ways?

e.g. (a) 3+ 5+ 4 -2 =10

(b) 3x5) - (4x2)=15-8= 7

2
5 x f = 10
1

(¢) 5 L4 + 27
3

Rules

(1) You must use 2, 3, 4 and 5 once and only once,
(2) You can use the square root sign, e.g. /4 = 2.
(3) You can ‘use the number as a power e.g. 82 o 22 .

(4) You can use a cube root sign and '"use up" the 3 e.g. éJq X2 =2,

Try to make all the numbers from 1 to 25 this way.
The answer book gives one way for each number,

Try to find some answers which are not in the book - you can
check these with a friend.
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Game of Four 4’s

This game uses four 4's. You have to try and make as many

numbers less than 20 as you can,

Il
O

6.8, 4+4+fﬁ:8+1

16 =0 = 8

G o h) e (0 + )
Rules

(1) You must use four 4's every time.

(2) You may use decimals .4 = f% -~ % and % s

Mo

(3) You may use square root sign /4 =

(4) You may use recurring decimals .i — G L EOE R PR

You can get 9 by # =adinln % = 4 x % =9
ol

2
5

Try to make as many numbers as you can between 1 and 20,

The answer book gives one answer for each number -

perhaps you can find some answers not in the book!

ilea

© 1974
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TARGET

A 3 digit problem

Here are some different ways of
making the number 24 using the
digit 4.

41+,4—4=|24
4 + V4 — 4 |24
4!x4+4=|24

\

Make 24 using each of the
digits 1 10 9.

Rules

« The digit is used three times
only, and no other digit is
used.

« The following function keys
may be used. '

0EE

EREIREIRE

€ 1992 RBKC SMILE
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FACTORIALS!

We vse a special notation for prodvcts like these :

5x4 x3 xZx| 7x6x5x4x3x2xl Ix8x7x6 x5 x4 x3x2xl
5x4x3x2x1 is written 5! (read as “five factorial")
Txbx5x4x3x2x| is 7! ("seven factorial")

7! works ouvt to be 5040

Work ouvt the following: 1) 5!
2) 6!
3) 3 3!+ 4!
v 3/ x4!
© (3+4)!
@ 3 x4!
© 4x 3!
Do vi ©fF @z
5 (3!)! '

Answer these questions withouvt multiplying ovt the factorials.
They are not as straightforward as the first five questions.

6) Write down 4 factors of 6/

7) Is 19! odd or even ? Explain.

8) ls 3 a factor of /9!

9) Is 19/ prime? Explain.

10) Is 19!+ 2 prime?

I1) (8) How many zeros are there &t the end of the number 0! 7
(b) How many zeros are there at the end of the number 25! ?
©) What abovt 100!

Try 1000/
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A Disappearing Act

One night Barbara camehome with a It was late so she put them away in a drawer
huge bag of marbles for her 3 children, and said that the children could share
Tony, Jackie and Mike., them out equaily in the morning.

During the night, Tony secretly went tothe He put 2 of the groups back inthe bagand
drawer, shared the marbles into 3equal groups| | took his share plus the one leFt over back
and found that there wasone marble left over. to his room. ]

R
- P S : IJA ~

i
_\‘Llﬁ};’, \ \\42

Later during the ....and Mike each In the morning Barbara decided to share -

same night Jackie... crept to the drawer out the marbles to avoid arguments.She
and repeated Tonys thought the bag looked smaller but

#t /ﬂ“; fﬂ? performance. decided it must be her imagination.

She shared the marbles into 3 equal groups.
There was one left over which sheputin

How moany marbles were

in the bag originally ?

© RBKC SMILE 1994



Smile 2051

| . Button

1. Enter 10 on your calculator.
You will need a

scientific calculator.
Press the @ button.

What is the result?

'=s, | Repeat for 100, 1000. . .
\f | Tabulate your results.

: What do you find?

Now do the same to find the
log of 5, 50, 500. ..

Describe your results.

2. Use the [log] button on your calculator
to tabulate log 1,log 2, ... log 10.

Use your results to calculate a) log 400
b) log 7000
c) log 90

Check your calculations with the
button.

Can you predict log 750?




3. By trying different values of X,yandn
and by using the button investigate

log x +log y = log ?
logx—logy =

log(x")

Turn over

4. Use what you have discovered to
calculate
a) log 750
b) log 35
c) log 144

Work out log 375 without a calculator.
Explain your method.

© 1993 RBKC SMILE.




